

CAMTEK

Inc.

Integrated Security Systems

High-technology
security products for
commercial, technological,
industrial, educational and government facilities.

Kittitas County Sheriff
Cle Elum Sub Station Camera System

Prepared For:
Kittitas County Sheriff
Steve Panattoni
205 W 5th
Ellensburg, WA 98926

Prepared By:
Dustin Lind
3815 E. Everett Ave.
Spokane, WA 99217
Office: 509 443-2609
Cell: 509 954-1694

Scope Of Work:

Camtek to provide and install the following equipment:

- 1 Cisco Small Business switch for camera power and communication
- 11 Sony cameras
- All necessary cable and mounting hardware

Camtek, Inc warrants installation of equipment, and all associated equipment for a period of one year from the date of installation.

Bill Of Materials:

Interior Lobby

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Interior Lobby

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Interior Lobby SubTotal:	\$568.42

Sheriffs Office

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Sheriffs Office

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Sheriffs Office SubTotal:	\$568.42

Courtroom Lobby

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Courtroom Lobby

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Courtroom Lobby SubTotal:	\$568.42

Courtroom Hall

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Courtroom Hall

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Courtroom Hall SubTotal:	\$568.42

Courtroom Waiting Area

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Courtroom Waiting Area

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Courtroom Waiting Area SubTotal:	\$568.42

Courtroom

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Courtroom

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Courtroom SubTotal:	\$568.42

Search And Rescue Bays

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM631	Sony IP Dome Indoor 1080P ViewDR IK10 PoE Only	\$398.42	\$398.42

Labor Schedule for: Search And Rescue Bays

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$398.42
Labor Subtotal:	\$170.00
Search And Rescue Bays SubTotal:	\$568.42

Exterior NE Corner Transport Door

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM632	Sony IP Dome Outdoor 1080P ViewDR IK10 PoE Only	\$704.90	\$704.90

Labor Schedule for: Exterior NE Corner Transport Door

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal:	\$704.90
Labor Subtotal:	\$170.00
Exterior NE Corner Transport Door SubTotal:	\$874.90

Exterior NE Corner North Side

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
-----	--------------	--------	-------------	------------	------------

3815 E. Everett, Spokane, WA 99217 • www.CamtekInc.com • Tel: (509) 443-2609 • Fax: (509) 443-2722

All material, information and supplied system drawings and designs furnished with this proposal are strictly confidential in nature and are intended solely for the above-mentioned client in evaluating Camtek, Inc. as a potential vendor. No portion of the supplied material may be reproduced or distributed in any way without the expressed written permission of Camtek, Inc.

Exterior NE Corner North Side

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM632	Sony IP Dome Outdoor1080P ViewDR IK10 PoE Only	\$704.90	\$704.90

Labor Schedule for: Exterior NE Corner North Side

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal: \$704.90
Labor Subtotal: \$170.00
Exterior NE Corner North Side SubTotal: \$874.90

Exterior NW Corner Entrance

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM632	Sony IP Dome Outdoor1080P ViewDR IK10 PoE Only	\$704.90	\$704.90

Labor Schedule for: Exterior NW Corner Entrance

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal: \$704.90
Labor Subtotal: \$170.00
Exterior NW Corner Entrance SubTotal: \$874.90

Exterior NW Corner Balot Box

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
1	Sony	SNC-XM632	Sony IP Dome Outdoor1080P ViewDR IK10 PoE Only	\$704.90	\$704.90

Labor Schedule for: Exterior NW Corner Balot Box

QTY	Description	Rate	Ext. Price
2.00	Installation	\$85.00	\$170.00

Equipment Subtotal: \$704.90
Labor Subtotal: \$170.00
Exterior NW Corner Balot Box SubTotal: \$874.90

Video

QTY	Manufacturer	Part #	Description	Unit Price	Ext. Price
11	Leviton	5G460-3Y	3' Cat5E Patch Cable Plenum Yellow	\$2.93	\$32.23
11	ONSSI	OC-ENT-1C	Ocularis 5.0 Enterprise Camera License	\$189.00	\$2,079.00
11	ONSSI	SC-OC-ENT-1C-1Y	Ocularis 5.0 Enterprise Camera 1 Year StayCURRENT	\$25.94	\$285.34
3	Windy City Wire	555619	CAT5E Plenum BLUE	\$228.57	\$685.71

Labor Schedule for: Video

QTY	Description	Rate	Ext. Price
56.00	Installation	\$85.00	\$4,760.00

Supplies & Materials for: Video

QTY	Description	Ext. Price
1.00	Permit-L&I WA	\$52.10

Equipment Subtotal: \$3,082.28
 Labor Subtotal: \$4,760.00
 Supplies & Materials SubTotal: \$52.10
 Video SubTotal: \$7,894.38

Travel Expenses

Supplies & Materials for: Travel Expenses

QTY	Description	Ext. Price
5.00	Per Diem 2 Men	\$1,125.00

Supplies & Materials SubTotal: \$1,125.00
 Travel Expenses SubTotal: \$1,125.00

System Investment:

Total Equipment: \$8,690.82
 Total Labor: \$6,630.00
 Total Supplies & Materials: \$1,177.10
 Total Proposal Amount: \$16,497.92

Note: The above price does not include sales tax.

50% Down, Balance Upon Completion

Billing Address:
205 W 5th
Ellensburg, WA 98926

Site Address:
205 W 5th
Ellensburg, WA 98926

Customer Acceptance:



Signature

Kittitas County Sheriff

Title

February 02, 2017

Camtek, Inc.:

Signature

Camtek, Inc.

Print

February 02, 2017
